
Install of Media drying H6 and Stand



4 1

Install of Stand

Parts List of Stand

No. Name QTY

1.

2.

3.

4.

5.

6.

7.

Shim with two holes

Shin 5*10

Section 1

Inner Hexagon Screw M5*35

Hexagon Wrench 4mm

Section 2

Section 3

￠

2

4

2

4

1

2

1

Install drawing of Stand No. Name

1.

2.

3.

Inner Hexagon Screw M5*35

shin 5*10

shim with two holes

￠

Power switch

Operation Steps:

1. Insert the power plug,Turn on the power switch

2. Turn on the control switch.

Note:Be sure to turn on the power switch,then turn on control switch



2 3

Install of Media drying H6

Parts list of Media drying H6

Install of Media drying
Install of Slab and Host of Media drying.

Install requests: at least two persons.

Install of Connecting arm and Slab

Install the Connecting arm to the slab at both ends,

Fix with Hexagon screw M5 0*1

Install the Slab to both ends of Media drying H6,

Fix with Hexagon screw M6*16.

Install of Media drying and Stand

Control switch

Power switch

Name NameQTY QTY

1.

2.

2.

4.

8.

1.

1.

8.

No.

1.

2.

3.

4.

5.

Host of Media drying H6

Slab

Connection arm

Inner hexagon screw M6*16

Inner hexagon screw M5*10

Hexagon wrench 4mm

Hexagon wrench 5mm

Shin ￠5*10

6.

7.

8.

No.

Host of media drying H6

Slab

Inner hexagon screw M6*16

No. Name

1.

2.

3.

No. Name

1.

2.

3.

Connecting arm

Inner hexagon screw M5*10

Shim ￠5 10*

Host of Media drying H6

Stand

Inner hexagon Screw M5*30

Shin

Screw Nut M5

￠5*10

No. Name

1.

2.

3.

4.

5.


